DIRECTORATE OF SCHOOL EDUCATION

=~ TAMILNADU
11JPCMO05 JEE PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST- 5) Total Marks: 180

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries
4 marks. For each incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator

PHYSICS Q. No.1to 15 A)200N, 80 N B) 220N, 90N
C) 240N, 96N D) 260 N, 96 N
1. A body of mass 8 kg is hanging below
another body of mass 12 kg. The T
combination is being pulled by a string 1
with an acceleration of 2.2 ms2. The A
tension T, and T, will be (g = 9.8 m/s?) 1 2kg
A)200 N, 80N B) 220N, 90N
C) 240N, 96N D) 260 N, 96 N a
PV N
T2
T1
V' N
12kg 8kg
a 2. Two blocks are in contact on a friction
AT less table. One has mass m and other
2 has mass 2m. A force F is applied on 2m
as shown in figure. Now the same force

F is applied from the right on m. in the

8kg two cases respectively. The ratio of force
of contact between the two block will be.

8 &.& Blemmuwerer Gp @um(heT 12
&.&  bloopwerer @umpeflesr S 2m m<F— F 2m m
ULSSl0 s _iquenn Osmhisedl i TTITTTTTT7 TTTT/777
ul_(poirergl.  Souellemesorty 2.2 A) Same B)1:2
Bef>  phesHld o drer b C)2:1 D)1:3
Bovameor HWDTL E(R&HHIU[H SMG)- Sresor( &L _6OL_BET R
oteofler Gupadlemns T, wopid T, 2 gmbeubhm GuwemLuL et O (&
(g = 9.8 Bai12) O&nesor(HoTengl. 6(H  &L_coL ulledr

iBlemm M whH mib wHEDIH &L emL_uSledr

Copyright @ THE ALCHEMIST CONSULTANCY



Hleom 2m. F eredrm eSlems 2m
Blemmuyeirer &L_emLulledr Bg uL&Slev
&ITL_Lq UL|6IT6IT6UIT M) @s&wevu(h Slms.
Goopd Bs ety oNemws F
Bleom mesr  euevs  UDSSESIIHHS)
©&FmIS5UUH SIDEI. SHeL_coL_sotlest

@sn(H ellemasafleor aN&IHD.

F
2m m<F_—>2mm

71777177707 17771777
B)1:2
D)1:3

A) norg)
C)2:1

3. A horizontal force 25 N is necessary to
just hold a block stationary against a
wall. The coefcient of friction between
the block and wall is 0.4 the weight of
the block is

-
25N 7
— ) s
i
A)25N B)20 N
C)10N D) 5N
&HL_60L 6QGOTEDM greuiflev

spiiayblemevulley Hmmusldlig iushesmeor
SomL L L 6Slems 25N. &1 6oL (@b
SooL Uul_ L

S I(H&&GLD 2 mile)

&6T8LD 0.4 6160116V, &1L 60L_UIl65T 6T6mL

25N o

_} ;
A)2.5N B) 20 N
C)10N D) 5N

4. A block of mass M is pulled along a
horizontal friction less surface by a rope
of mass m. If a force p is applied at the
free end of the rope. The force exerted
by the rope on the block will be

M+m B) M+m

A)
P MP

M P
M+m

C) D) Mt v m

m Bleom ©@&neor 6@p  sSullbhmmey
M Blemp O&neorL &L 6oL 6R6GTM
SleoLsser  ugiillev
ISYOL LI GF 3118 &9 dleor
oLy Womerwlev p erdim  Nems

2_gmieumm

@&FmI5H5UUH SmE). sUIM &1 emL_uSlest

Guwev GFweLUH S5ID Nlens
A) M+m B) M+m
P M P
M P
M
C) M +m D) A4+m

5. Two bodies of mass 3 kg and 4 kg
are suspended at the ends of mass
less string passing over a friction less
pully. The acceleration of the system is
(g =9.8 m/s?)

A) 4.9 m/s?

B) 2.45 m/s?
C) 1.4 m/s?
D) 9.5 m/s?

3 kg whmib 4 kg Hemmuerer S(H
@un(pL_seiT Hlemmwbm 61 Sullhmmev
SoeoecorssUUl_(f 2 nmieubn  sUN
oudlwns OsudSlngl.(g = 9.8 m/s?)
eteotleb @BMEVUNGOT (p(h &8I

A) 4.9 m/s?

B) 2.45 m/s?

C) 1.4 m/s?

D) 9.5 m/s?

6. Two masses of 5 kg and 10 kg are
connected to a pully as shown what
will be the acceleration of the system

(g — acceleration due to gravity)
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5kg

10kg

Ne B oY D¥,

5 &l.& wHmb 10 &.& Hlewmujeirer

Smoounersar  &s00  cpesTidlev
UL 5lev &S’_1quw UMM
60600188 &UL_ (1) 6T 6T 60T . oTcoflo
@sTE&Uller (WEH&HD (g — 6reTus)
yel Fritiy (p(h &&1b)
5kg
10kg

Ng B Y

7. A block of weight 4 kg is resting on a
smooth horizontal plane. If it is struck
by a jet of water at the force of 20N
and at the speed of 10 m/s the initial
acceleration of the block is

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?
4 5.5 blemmuyeirer &L_60L

I aIPUIUNGDT SlemL_& 86 uTliSley 6pilio
iBlemeuullev 2_citemg). 20 N eflem&w|L_ 6ot

10 m/s GaussHslev O&coed Bi

@22  caTOISHHg ©evsifleu(md

8 600T GO0Y [TIT6L @ursepmiorm
@&swduU’ LTeb S 2 6or(HD
W H &b

A) 15 m/s? B) 10 m/s?
C) 2.5 m/s? D) 5 m/s?

8. Time period of simple pendulum is
T inside a lift when the lift is stationary
If the lift moves up ward with as
acceleration g/2 then time period of the
pendulum will be

A)BT B)2i
3 2
C) 5T D) {3 !

QUH Hooll 2e156016T Bi6M6VEY| HTEULD
T o dror 2ascv opcoimy oSeley
&l cpedrdley

cmoussIUL_(HoTergl. WleTgnés Gy

2 _6iTem Oledr

Coresl 9/2 WphHéssHdlev G&E6sTDTH
& 6ot 2e1 &6965T Diemeve)] HITeVID

A3 T B) 23
3 2
C) 5 T D) {3 T

9. Amonkey of mass 50 kg climbs on a rope
which can withstand the tension T of 350
N. If monkey initially climb down with an
acceleration of 4m/s2 then climb up with
an acceleration of 5 m/s2. Choose the
correct option (g = 10 m/s?)

A) T =700 N while climbing upward
B) T = 350 N while going downward

C) Rope will break while climbing

upward
D) Rope will brock will

downward

climbing
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50 &1.& Hlempuerer (GumbiE GRTM

81 oo T350 N snbissEe 1q.W

sWm ocpcrdled amISimgl. (P&HeS6L

sWidlev  4m/s2  whH&ESHSlL &

CoresSyd Glesr 5 M/s2. (pHsssHSlcv

Guev@rrés&Siyb rai&Smg. g = 10 m/

s?) ereofleb

A)T = 700 N Gwev Crmésl HeUHD
Gung Sy aflens

B) T =350 N &1p Crné sl mes(md Gung)

C) Gwev Crmss amibd Gurs sullm
SIDIbg) eSl(H D

D) &1 Crrssl Sohigb Gunsg sullm
SIDIbg) eSl(H D

10. A person standing on a spring balance

inside a stationary lift measures 60

kg the weight of the person if the lift

descends with uniform down ward

acceleration of 1.8 m/s? will be

A) 492 N B) 600 N

C) 1092 N D) Zero

60 &l.&l oTemLweiTer WeoflseoT L6
Blemovullev 2 eitemr  WlesTEHTSSlUG6L
@omiselltul_ L &@poeT  ellevedley
Bl &Slomi. 1.8 m/s? Exneor (W ([ &&SSlev

Wlesrgné &l &Pl Gung)
6ol & 6ofl 6o 6TEmL

A) 492 N B) 600 N

C) 1092 N D) Zero

11. A block of mass m is resting on a
smooth horizontal surface. One end of a
uniform rope of mass m/3 is fixed to the
block which is pulled in the horizontal
direction by applying a force F at other
end

1
A) — B) gt

1 1

—F —F
C) g D) g
m  Bleopuweiter &L QGTMY
eupeaupliuteor  SleoLsser  uriidlev

ooy Hlemovulleb 2 citorg  Fmmeor
m/3  Hleomwerer &ullm  6dTMOIGET
% Y omeor

St HUUL_(1) 6iTorm 8.

&1°_60L_UJL_60T
&uIldleor
wmipemeruiles m/3  e166Tm  6SlemL

@&weLU_(f &L oL cow SleoL e

Slomsuller  GR&Smg.  sudlbdlesT
(5 b G&FwWeLU(H D S(1peSlens

7F 1

il —F

8 B) %

1 1

—F —F
C) 2 D) 2

12. A shell of mass 10 kg is moving with
velocity of 10 ms-1 when it blasts and
forms two parts of mass 9 kg and 1 kg
respectively. Ifthe 1st mass is stationary
the velocity of the second is

A) 1 m/s
C) 100 m/s

B) 10 m/s

D) 1000 m/s

10 kg iBlemmujeirer ©6ig & 6dor([H 665T M)
10 ms-1 Geus s Slev C&csTM ©6uq &8I
9 &8 wHmd 1 .8 HleomuemLw
uGSlsornes YIflSIng. Waed Heom

Hlemovwns SmbsTey  ESresor_mb
Hlemmuilesr SlemaGeussid

A)1m/s B) 10 m/s

C) 100 m/s D) 1000 m/s

13. A man is standing at a spring platform
reading of the spring balance is 60 kg
at If Man jumps outside platform then
reading of the spring balance.

A) First increases then decreases to

Zero
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B) Decreases A) 5 kg m/s B) 100 kg m/s
C) Increases C) 200 kg m/s D) 1000 kg m/s
D) Remains same

(15 WeoflsI &(HET Tlevedlesr H1' 1960
HoSomi. &apeitetlev 60 S
cTooLwns  doteil &M (HSlms)

20 kg Hlemmwerer Gunpeflesr Bg)
10 N eflemL 10 eSleormg GBI S (&G

@&wWevUL_L_meL 2_HsLmmun(h

weoflg 6t GueoL 1leS\mHba) A) 5 kg m/s B) 100 kg m/s
Oouefliupns GSssme &moTeSe C) 200 kg m/s D) 1000 kg m/s
SM’_Gb iereSE CHEMISTRY Q. No. 16 to 30
A 6%lov iGl& &8 Gl6oT (& 6omit
)& Blelbol ©ooDhS! 16. Which of the following is electron
aPwnSHIms) deficient?
eficient?
B) ®on&lins)
C) oi8afsSma) A) (BH,), B) PH,
D .
) ) C) (CH,), D) (SiH,),
14. Which of the following graph depicts
spring constant k verses length | of the Slesre(mevcoreub iHleb orousLIroor

spring correctly. &oomun(y 2_coLw G&iib 618)?

A) (BH,), B) PH,
C) (CH,), D) (SiH,),

17. XeF2 is isostructural with

A) K| i B) ¥
L
K K
C) D)
L

F v

A) ShCl, B) BaCl,
C) TeF, D) ICI,
XeF, 2 | 60T 565 6l eIemIDUL
e ) Y 2 oL WS
6OTEU(THID euemIUL_higerfley
a(moredlevedledr  grpeiTesley  mMled A) Sbel, B) BaCl,
k ophmid Berd L &@& Seor Guiumeor C) TeF, D) ICI,
@aLiiSlemeor &MIOG(Heug 18. Which of the following is a polar
molecule?
A) K B) ¥ : A) SiF, B) XeF,
: - C) BF, D) SF,
G651 6u(MH6U6HT UM MHl6L SHI(HOY
K K eypoevd g6 M) 6157
C) D) A) SiF, B) XeF,
L L C) BF, D) SF,

15. A force of 10 newton acts on a body
of mass 20 kg for 10 seconds then

changes in momentum is
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19. Which of the following is paramagnetic? A) N3 B) NO;

A) CN” B) NO* C) NO, D) CO,

C)CO D) NO, Sledrau@peoroubdles  o1g1  FwHET

UM &iMb& & 60T 6mIDL6OL_LIS 6T8)? (& Besimevor Siemioty Qg LD
. 2 6oL Wg)?

A) CN B) NO* A) N3 B) NO;

20. Dipole induced dipole interactions are 24. Which of the following species contains

present in which of the following pairs? equal number of ¢ and IT bonds?

A) HCI, He B) SiF,, He A) HCO™ B) XeO,
C) H,0, Alcohol D) Cl,, CCl,

C) (CN), D) CH,(CN),
Sledroupld  Someorsorfloy  erSlev

L. 965163 (M 66T UM MHl6L 615 &0
S (H (W 60601, HIT60oTL_UIUL_L_ &(IH(Lp 60601

eTevor ol emeullevneor 0 wHmD 1

ouiGEl 2_oog? . GlememoTUIL & 606 2_ 6oL Wg)?
A) HCI, He B) SiF,, He
C) H,0, Alcohol D) Cl,, CCl, A) HCO B) XeO,

21. Be?* is isoelectronic with which of the C) (CN), D) CH,(CN),

Lo
following ions? 25. Which of the following pairs of ions are

A) H* B) Li* isoelectronic and iso structural?
C) Na D) Mg=* A) COZ,S0% B) CIO;, COF
Glereupid  Sweoflserfley  or Be?*
R T o C) 50>, NO; D) CIO;, SO%
SwetlyLer @565 uo  Geverfl 300
6T6VL_TTGHT SIGHLOUIL|GOL_WIG)? Sletreupib Sucoilseticy orihs Eomesor
A) H* B) Li* 005686 UmGlalefl eTovéL mmedr Siemoliy
?
22. Which of the following molecules has I
the maximum dipole moment? A) CO;,S07 B) ClO;, COZ
A) CO, B) CH, C) 507, NO; D) ClO;, SOZ-
C) NH, D) NF, 26. Which of the following options represent
Slesrou(peucoroubdley orgl le bls the correct bond order?
SHpomeor 2_hS SIUY 2oL WEI? . .
A) CO, B) CH, A) 0,>0,>0; B) 0; <0,<0:
C) NH, D) NF, C) 0,>0,<0; D) 0,<0,>0;

23. Which one of the following species
contains plane triangular shape?
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Slebreu(m 6T EuH M6 sflwneor 30. Predict the correct order among the

Sl6m 60011 & 1T auflen&emwd following
GSM&ESDE)? A)bp—-bp>Ilp—bp>Ip-Ip
A) 0;>0,>0; B) 0,<0,<0; B)lp—bp>bp—-bp>Ip-Ip
_ : C)lp—Ip>Ip—bp>bp-bp
C) 0;>0,<0, D) 0,<0,>0;
D)lp—Ip>bp—-bp>Ip—-Dbp
27. The species, having bond angles of GlesraupoucTeumbmdley  o1g  Fflwmeor
120°is? ouflem&wm@ b
ane, mso bo-to> b2 o
p—-Dbp=>Dbp-Dbp=>Ip—Ip
C) PH D) CIF
3 3 C)lp—Ip>Ip—bp>bp-bp
Gemeooriiys @asmesord 120° 2_emL_wig) D)lp—Ip>bp—bp>Ip-bp
oTSI? MATHS Q. No. 31 to 45
A) NCI, B) BCI,
C) PH, D) CIF, 31. The number of triplets (x, y, z), where X,

y, z are distinct non — negative integers

28. The species, having bond angles of o .
satisfyingx+y+z=151is

compound is iso electronic and iso
structural? A) 136 B) 80
A) IBr; , XeF, B) IF,, XeF, 14 D) 92

(X, Yy, z) er6dTD eeiTM Geu6EeumT6sT
C) BeCl,, XeF, D) Tel,, XeF, &OMWIDHM (W (IR 6TEGoT&H6T X +y +2 =15

68 Um©euell 6TevdL_TTeT DiemoUIYLD, 6TETMEUTM) 2 _6iT6r g 6T6oflev

. - A) 136 B) 80
0HS olqeN Scowlyb 2 6oL W
Geiiorhisser Gleor &emeoorsseiflev 618)? C) 114 D) 92
A) IBr; , XeF, B) IF,, XeF, 32. The number of ways, is which 5 girls
and 7 boys can be seated at a round
C) BeCl,, XeF, D) Tel,, XeF, table so that no two girls sit together is
29. Which one of the following pairs of A) 7(360)2 B) 7(720)?
species have the same bond order? C) 720 D) 126(5!)2
A) CN~,CO B) V., 0,
5 Gluedor W HMID 7 <, 6001 ©\&IT6ooT (h E3(H
C) CO, NO D) 0*,n0* Ouesorsor H(HBHEH SiITSHITM)
Br Glemewriys sSID 2 6oL @y oL Guemnsuliley 61855 cmcor
S omr6eo186iT 965Ta(H66oT UM M6V 6T8)? cudlseifleb ST 66U & euD?
A) CN~,CO B)N,,0, A) 7(360) B) 7(720)?
12
C) CO, NO D) 0°. NO* C) 720 D) 126(5!)
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33.1f *C,"C,=10:1 then the ratio
(n?+3n):(N>-3n+4)is

A) 27 : 11
C)65: 37

B)2:1
D)35:16

>C, " C,=10:1 eteoflev (n? + 3n) : (n? —
3n + 4) eredrm NIHIHID

A) 27 : 11 B)2: 1

C) 65 : 37 D)35: 16

34. The value of

L, ., 1 +....+;+.
11501 3148! 5!46! 49121 IS

A) 251 B) 2_51
51! S1!
250
C) = D) 22
50! 50!
1 1 1 1
+ + Forit——+ .
11501 3148! 5146! 49121 &bt
wSloy
A) 2° B) 2
31 51!
250
250 -
50!
i i , , 060!
35. |f 30C))* +2(30C,)* +3(30C;) +.......+30(30Cy,) TG
then a is equal to
A) 30 B) 60
C) 10 D) 15
i i , , 060!
(30C))" +2(30C,)" +3(30C,)" +....... +30(30C,,) =(30!)2

eToofleb oL —66T Sty
A) 30 B) 60
C) 10 D) 15

36. The total number of functions F = {1, 2,
3,4} — {1, 2, 3, 4, 5, 6} such, that

A) 60 B) 90

C) 108 D) 126
F={1,2,3,4—{1,2, 3,4,5, 6} &r
@ s smiyseiflesr o160t cfld oma

A) 60 B) 90

C) 108 D) 126

37.LetS={1,2,3, ...... 9}, fork=1,2, ....
S5, let N, be the number of subsets of
S, each containing five elements out of
which exactly K are odd, then N, + N, +
N, +N, + N, =

A) 210 B) 252
C) 126 D) 125
S={1,2,3, ...... 9}, @i k=1,2, ...
5, Nk oTTUSI 5 2 mtsemer ©\&mesorL
S-6i1 2_1”_serhiser, K eTesrug) sflwne

eohemm erevor eteoflev, N, + N, + N, +N,

+ N5 =
A) 210 B) 252
C) 126 D) 125

38. The total number of ways is which 5 balls
of different colours can be distributed
among 3 persons. So that each person
gets at least one ball is.

A) 75
C) 210

B) 150
D) 243

@oeu6uGoumy HimpemLw 5  6esoreoor
UbGIBemeT 3 HUTEHEHEHE G6IGIeIN(H
QB GHODHSS R(H UbHG UMD
alemsuiley @& 5D 61586060
oudlseifleb auprhiseumD?

A) 75 B) 150

C) 210 D) 243

5
39. The value of expression 47C,+2,*7Cijs
=

A) 47C,
C) 52C,

B) 52C,

D) none of these
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5 .
47C, + Z:, G et eNliflelesT SO
=

A) 47C,
C) 52C,

B) 52C,
D) argblevemev

2023

40. Suppose ' 7?,2023C, =2023x ax 2%

41.

42.

r=0
then the value of a is

A) 1012
C) 2023

B) 2022
D) 1022

2023

> r%,2023C, =2023x a.x 2*** erevfléb o 661

r=0

w&loy
A) 1012 B) 2022
C) 2023 D) 1022

Total number of ways in which six ‘+’
and four *-* signs can be arranged in
a line such that no two ‘-* signs occur
together is

A) 37 B) 35
C) 45 D) 62
M) "+ HmIbd  HIOTE -

GMsomer  Osneor(f Sreor(h -
GMlseT  DHBTHCHE Sovovnseumm)
CriGasm_1g6v  erHgHomer  auplserfley

IO &H&HEVMD?

A) 37 B) 35

C) 45 D) 62

If nC_ =36,nC =84 and nC., =126

then find the value of nand r

>

5
1
w ©O© © w

n

o8]

r
r
r

@)

) 9
) 9
)n 3
) 3

)

n r=

I’ICr_1 = 36,}1Cr =84 lDﬁ)Qij nCrH =126
6T60fl6v N WHMILD I 65T STy
A)n=3r=9

43. The number of ways to give 16 different

things to three persons A, B and C. so
that B get one more then A and C get
two more then B is

16!

A) 415171
B) 4! 5! 7!

16!

) 31518!

D) none of these

16 QUEDHEWITEOT BeuexGeummeor
@unpLl_semer A, B whmid C eredrm
BUiSEH&HE, B erestucuil A sow el
e dSlswrsad C  eresruauf
B cow oL Sueor( iSlswonsea|b
@umiormy) auflseiflev

Ql&pl‘leﬂS&)lTLb?

6158 60O 60T

A) 16!
415171

B) 4! 5! 7!

16!
C) 31518!

D) agidlevemov
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44. The total number of ways of selecting

six coins out of 20 one — rupee coins,
10 fifty — paise coins and 7 twenty five
paise coins is

10—
DU GOUST [HITGOOTILBIGET WHMID 7

20-6(IH EHUM  [HITEOOTWIMISGIT,

SHUHG 21HI GOUEIT [HITEOOTILIIS 606
©\&5medor (1 6
Caiih @& (R UUSDE&TeT CTSHS GULdls6T
A) 28

B) 56
C)37C,
D) none of these

IHIT600T WIH1 85 60) 61T

10

45. The number of 4 — letter words, with

or with out meaning, each consisting of
2 vowels and 2 consonants which can
be formed from the letters of the word
“‘UNIVERSE” without repetition is

A) 423 B) 234
C) 432 D) 324
“UNIVERSE” oTG5TD

oumi&emauileSI(hibgh  @uUIIHET  &H(HLD
Svovg  OunperHm 4 eT(RSHS)
@Q&neorL. eunigHeng 2 2 uNlem(pss)
(vowels) 2 @8 (consonants)
2 eirer_&&Hlwusns 61 & & 60)60T
QUM & 608 8 66T 2_(IHEUME86VITLD?

A) 423 B) 234

C) 432 D) 324
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